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1.YnpocTuTe BblpaxeHue: ([ .+ _.)sin’2a.

2 Bbluncnurte: ¢€o0s70°.cos20° —sin70%.sin 20°

a)—-1; 6)sin 50 B)cos 507 r)0.

3.PewnTe ypasHeHne: SIn(; + X):_l_
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4 Hangute npown3BOLHYIO qc>y|-n<u,wm:§1=6x“—351ﬂx

aly'=10x+3C0sX; 6)y'=24x>-3C0SX; B)y'=24x*—3C0sX;

rly' =4x>+3sin x,
5. Hangute yrnoBon KOIhPUUNEHT KacaTernbHOW, NpoBeaeHHOU
rpacpuky PyHKUMM y=5x> —7x B TOuYKe C abCcumccon Xo=2

a)23; 0)67; B)8; 153,
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6.Hanaute 3HaueHne BbipaxeHust tg(; — @)-SIin(2r— J)-cos(T +{
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a <1_‘\») . Xo=-—3.

7 Hangute £ 7 (xo), ecnu f(x)= ;79




